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Most Countries in Europe are… 

• Industrialized  depend more on 
manufacturing, communication, or 
service industries, than on farming for 
their wealth. 

–Allows countries to provide 
education, health care, & access 
to technology for their citizens 

 

 





Russia’s Unbalanced Issue 

• The government has always required 
education. 

• Much of Russia has been (is) in poverty 

•  Available jobs (Remember available 
resources, but can’t get to them because of 
the climate?) 
– Gov. is now finding ways to bring more jobs 

• poverty declining 

• Economy growing 

 
 



Questions… 
1)   A literate person in a developed country is 

more likely to have all of  the  following,  EXCEPT 

 

 

1) People in 3rd world countries have: 

 

 

2) Explain why Russia has such a high LR, but low 
GDP… 

 

A-- The best jobs C– a higher literacy rate 

B-- Little education D– a greater standard of living 

A– health care C– a high-paying job 

B-- technology D– uneducated children 



Web Resources: 

• http://www.sitesatlas.com/Thematic-
Maps/Literacy-rate.html 

 

• http://www.unicef.org/infobycountry/russia_s
tatistics.html#77 

 

• http://www.unicef.org/infobycountry/industri
alized.html 
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